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WORKSHEET FOR MOLES

Objective: be able to relate number of grams, number of moles and number of molecules for a substance

1) What is the formula mass of CaCl2?

2) What is the molar mass of CuSO4? 

3) How many molecules there are in 0.34 moles of NaCl? 

4) How many molecules there are in 77.0g of BaCO3?

5) What is the mass of 2.5*1021 molecules of MgCl2?

6) How many moles are in 15g of C2H6O? 

7) What is the mass of 0.173 moles of K2SO4
8) Your sample consists of 3.59*1020 molecules of CuSO4. How many moles is it?

9) What is the mass of the sample described in previous question? 

10) How many molecules are there in 0.0158 moles of K4[Fe(CN)6]?

11) How many atoms of K are contained in a sample described in previous question? 

12) If 1 mole of iron atoms has mass m=56g, what is the mass of one single atom of iron? 

13) How many protons are contained in 2.5g of sample of carbon? 

14) This is a tough one: What is the radius of one atom of iron? Density of iron is d=7.8 g/mL. 
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